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Factorising Single Brackets

Semi-Abstract Stage

1 In the diagrams below, the figures represent the area of that shape.
Work out the length of each arrow.
Make the black arrow as large as possible.
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2 For each of the parts in question 1, write two equivalent expressions to represent the
total area of each shape.
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3 Peteris completing some questions on factorising but needs your help to complete them.

Complete the grids by writing in what Claire should put in each of the boxes containing a

capital letter.

a) Factorise 3x + 6
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c) Factorise 4x + 12
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e) Factorise 6x + 18
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g) Factorise 7x — 21
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Factorise 3x + 12
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Factorise 6x + 12
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f)

Factorise 7x + 21
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h)

Factorise 7x — 28
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For the following questions, complete the full grid.

Factorise 7x — 35

k) Factorise 10x — 35
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m) Factorise 14x — 35
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o) Factorise 35 — 15x
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Factorise 5x — 35
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Factorise 15x — 35
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n)

Factorise 21x — 35
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Factorise 35 — 12x
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